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The mathematical content
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HEBER The English version

This problem uses Sassadate

Exercise
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H38ER The English version

/\There are 60 candles. The parson has some two kinds of parcels. One of parcel has two candles.
Another parcel has one candle. When he throw the parcel, he say “Hey”. After he throw all parcels,

another parson heard 48 times of voices. You find the number of each parcel of this time.
The parcels which has two candles are 12
The parcels which has one candles are 36

Kou carry thirty go stones to Otu. Thus, the an

Otu says [sasaland put One or Two Go stones on each place.
Kou don‘t see go stone which was displayed but He can hear only
voice.

Kou heard seventeen times of voices when Otu had finished
displaying it.

Do you line up in the one that you displayed one hy one how
many(. ‘w-)?

Thirty candles are necessary if it is two all.
But there are only thirty candies and four become one.

swer IS

AThere is a person who has 20 go stones.
He put 2 stones to one side or 1 stone to another side. When he put the stone, he says “Hey”.
| subtract 10 from the number of voices that | heard. And | double that number

Then | understand the number of go stones of him whom | employed one by one.

And then, when he put it to the place where he put two or one go stones successively

“Sassadate” means this. It is how to solve same as a problem right candles.

In addition, give a person 30 go stones and remove it by a right method.

Similarly.do it and sixty candies.

A voice is forty eight.

Thus,it is ninety six.

But there are not ninety six candles.

. . . figure.
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AlIt use same way when it use 20 or 30 go stones. O®B®O
©In the case of 20 @IGINSID)

20x2=40 40-20=20

All 20 go stones are put in the place to put one go stone.
©lIn the case of 30
15X2=30 30-30=0

All 30 go stones are put in the place to put two go stones.

AThis question is not solved. % §&)I| Wb

Eight stones
which is the

of the right Then right.
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Our question is “Sassadete”.It took time until we understood it. But, we arrived at an answer properly.
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We were surprised at there being such a mathematical way of thinking from the Edo era.
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It comes loose more smoothly.

| abandon around 15 times of number of voices 15 and double a remaining number.

The answer to find is the same by all question.
In addition, | set it after having displayed ten go stones to repeat by two, and to become the lower

ine up to two, and it is the right, or it puts the expression of the eye stone of the guide
eft to say an expression of the eye stone again and you do one lower stone of the right
and that means right earlier and leave left bottom one and should know it when you set gradually
setting by two to two to the bowels lengthwise at a time like the right, and hearing whether, by the way,
it is left or right again, this three parts and hit the third from the top of the third left Then left the top
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